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1.Identify the material noun
Bricks are made of clay

1) Bricks 2) are 3) made 4) clay
2. Identify the Assertive sentence.

1) Hurrah! I have passed

2) Don’t pluck the flower .

3) Shall I buy a chocolate for you?

4) We respect our teachers
3) Identify the adverb of place

I could not find my pencil box anywhere.

1) find 2) pencil 3) box 4) anywhere
4. Give the plural number of ‘Bamboo’

1) Bamboos  2) Bamboes 3) Bamboss 4) Bambbos
5. Give the plural number of ‘wife’

1) wifes 2) wifess 3) wives 4) wivies
6. Identify the Imperative sentences .

1) Please give me a glass of water 2) How stupid he is!

3) I am doing my homework 4) What is your name?
7. Fill in the blanks with appropriate demonstrative pronoun

are the selected items.

1) this 2) these 3) those 4) that

8. Identify the parts of speech of underlined word.
January is the first month of the year.
1) verb 2) pronoun 3) noun 4) adjectives

9. Anup is a good boy.(Identify the part of speech of underlined word)

1) Adjective 2) verb 3) Adverb 4) Noun
10. Identify the tense of given sentence.
We played cricket.
1) simple past tense 2) past continuous 3) past perfect

4) past perfect continuous

11. Fill in the blank with appropriate Auxiliary verbs
—————————————— Priya win the dance competition.

1) was 2) were 3) did 4) Should




12. This team won many trophies .
1) has 2) was 3) have 4) had
13. Use appropriate similes.

The boy looks as happy as a

1) butterfly 2) king 3) lamb 4) peacock
14. Dara singh was as strong as a
1) ox 2) lion 3) tiger 4) none
15. Fill in the blanks using appropriate words
To have plenty is not to have sufficient is
1) abundant, scare  2) partly, complet 3) rich, poor  4) top, bottom

16. Write the part of speech of the underlined word
Birds fly in the sky
1) noun 2) pronoun 3) verb
17. Old man walks slowly
1) verb 2) Adverb 3) Adjective
18. Identify the subject in given sentence.
Tanu came late because she missed the bus.
1) came 2) because 3) tanu
19. Identify the Article in the given sentence
December is the last month of the year.

1) December 2)is 3) the
20. Fill in the blank with reflexive pronoun.

Jack and Jill hurt

1) himself 2) yourself 3) themselves

21. Identify which sound is there in this word.

Table

1) long a 2) long 3) short a
22. T have four new

1) belt 2) tie 3) shirts
23. My piano teacher taught me twonew _______ this week.

1) opera 2) note 3) songs
24. The boys playing cricket.

1)is 2) was 3) are
25. Shepherd is grazing ten ________ in the field.

1) cows 2) crow 3) goat

4) conjunction

4) Noun

4) bus

4) month

4) ourselves

4) short b

4) watch

4) lesson

4) had

4) horse
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.Write the next number.

562, 565, 568, [ ]

1) 900 2) 571 3)715 4) 668
4 less than 448
1) 450 2) 440 3) 444 4) 425
A circle has _____sides.
13 2) 2 3)0 4) 4

643, 436, 346, 634

If these numbers are arranged in descending order which one will be last?

1) 346 2) 634 3) 436 4) 643
7 hundreds, o tens and 6 ones make

1) 7600 2) 076 3)760 4)706
Complete the pattern.

5,10,15 , ,

1) 11,15,418 2) 20,25,30 3) 10,15,20 4) 6,10,15
What should be added to 324 to get 5687?

1) 244 2) 442 3) 424 4) 204
Find odd one out

24 17, 46,54
1) 46 2) 17 3) 54 4) 24

709 is written in words as
1) seven hundred and nine
2) seventy nine
3) nine hundred and seven
4) seven hundred and nineteen

. How many triangles this figure has?

13 2) 5 3) 4 4)6
47 = tens ones

1) 7,4 2)70, 4 3)40,7 4) 4,7
. Difference between 72 and 80

1) 82 2)72 3) 8 4) 10
. Convert 5Sm 20 cm into cm.

1) 500 cm 2) 502 cm 3) 520 cm 4)20 cm
. Half of 34 1s

1) 14 2) 17 3)12 4) 43




40. 1 rupee = paise

1) 10 2) 20 3) 200 4) 100
41. Christmas is celebrated on every year.
1) 24 Dec 2) 25 Dec 3) 1 Jan. 4) 26 Jan
42. The biggest possible 3 digit number by using 3,6,9 only once is
1) 936 2) 639 3) 369 4) 963
43, The time shown by the clockis__
1) 2 o’clock 2) 12 o’clock
3) 1 o’clock 4) 11 o’clock

44. 3x(4+1) =2

1) 15 2) 12 3)3 4)5
45.4H+2H +3T +4U=__T_ U
1) 600 , 4 2) 6,40 3)63 4 4) 60, 40
46. Which of the following is equal to 2 rupees?
1)S0p+1Rs 2)50p+50p
3)S0p+50p+50p+350p 4)1Rs +50p
47. What will you add to Rs. 3.45 to make it Rs. 10.00?
1) Rs.5.45 2) Rs.6.50 3) Rs. 6.55 4) Rs. 6.25
48. Count Rs. 15.45 to paise
1) 1545p 2) 15045 p 3) 15450 p 4) 15054 p

49. How many 4s are there in 327

1)4 2)8 3)9 4)3
50. How many 50 p coins are there in Rs. 7?

1) 12 2) 17 3) 14 4) 16
51. Animals that chew the cud are mostly

1) carnivores 2) herbivores 3) omnivores 4) None of these
52. Loud and unpleasant sounds

1) make us happy 2) irritate 3)have no effect on us 4) None of these
53. This organ pumps blood to the different parts of the body

1) brain 2)heart 3)liver 4) None of these
54. Cells of the same kind join together to make

I)a tissue 2)an organ 3)an organ system  4) None of these
55.Constellations are the patterns formed by

I)planets 2)stars 3)moons 4) None of these




56.Man first landed on the moon in the year

1)1699 2)1969 3)1996 4) None of these
57.Astronauts wear special suits that contain a supply of

I)petrol 2)water 3)air 4) None of these
58. Strong and chisel-shaped beaks help birds to

1)tap the bark of trees 2)climb trees

3)crush grains and seeds 4) None of these
59.You may get an electric shock if you touch

1)switch with 2)hot pans 3) tv remote 4)wet hands
60.Plants like wheat rice and onion have

1)tap roots 2) fibrous roots 3) root 4) None of these
61.When we see more than half of the moon it is called the

I)gibbous moon 2)crescent moon  3)new moon 4) None of these

62. First aid should be given to an injured person.

I)immediately 2) after one hour  3)when she/he is fit

4)No need
63 .Our body is made up of .

1)202 bones 2)206 bones 3)302 bones 4)406 bones
64.If your weight on the moon is 7 kg. on earth it will be

1)41 kg 2)42 kg 3)43 kg 4)42¢g
65.This makes the soil rich and fertile

1)sand 2)humus 3)heat 4)Chemicals

66.The layer of air surrounding the earth is called the

Dhydrosphere 2)biosphere

3)atmosphere 4)lithosphere
67.The needle of a compass always points to the

1)south 2)east 3)north 4)west
68. This is a form of water

1) iceboat 2)iceberg 3)ice-cream 4) None of these
69. If you can see through a substance, it is said to be

1) transport 2) opaque 3)semi-transparent 4) transparent
70. The eyes, ears, nose, tongue and skin are

I)sensory organ  2)respiratory organ 3)excretory  4) just body organ
71. River start at

1) Mountain 2) plain 3) Ocean 4 ) None




72. Pure water has

1) no taste 2) no colour 3) no smell 4) All
73. State of water is

1) solid 2) liquid 3) gas 4) All
74. Water takes

1) Its own shapes
2) Takes shapes of container
3)aand b
4) none
75. Water has to be frozen to
1)juice 2) vapor 3) ice 4) All
76.A village was like a big
I)city 2)family 3)town 4)kingdom
77.To grow crops farmers need
1)air 2)clouds 3)sky 4)water
78.The early stone tools were----
I)rounded 2)shapely 3)shapeless 4) coloured

79.1n the beginning the stone age man lived in

I)forest 2)towns 3)villages 4)colony

80.What is at the center of the solar system

I)planets 2)earth 3)sun 4)star
81.We should not waste as it is made by cutting trees.
1) paper 2)colour 3)water 4)food
82.The ------ 1s made up of living and non-living things.
I)universe 2)solar system 3)environment 4)horse
83.There are different types of pollution.
1)Three 2)four 3)two 4)fifteen
84.Which tree is called the flame of forest?
1)Oak 2) Gulmohar 3) Neem 4) Pine

85.The person who goes on a tour is

I)grocer 2)doctor 3)tourist 4)florist

86. A piece of land surrounded by water on all sides is an

I)peak 2)hill 3)mountain 4)jisland
87. distributes sweets and gifts on Christmas.
1) Prime Minister 2) M..S. Dhoni

3) Santa claus 4) The principal




88. Which Prime Minister started ‘Swachh Bharat movement.

1) Rajiv Gandhi 2)Jawaharlal Nehru 3)Atal Bihari Vajpayee
4) Narendra Modi

89. is the youngest Indian to climb Mount Everest.
I)Rakesh Sharma 2)Armstrong 3) Arjun Vajpai
4) None of these

90. Teachers’ day is the birthday of
1)Jawaharlal Nehru 2)Dr. Radhakrishnan 3)Dr. Rajendra Prasad
4) Narendra Modi

91. The instrument used to measure body temperature.
1) Barometer 2) Binocular 3) Lactometer
4) Thermometer

92. Martyr’s Day is celebrated on
1) 26" January 2) 30" January 3) 1* May
4) 15™ August

93. The founder of Christianity was

1) Lord Buddha 2) Allen Octavian Hume
3) Akbar 4) Jesus Christ
94. was the most intelligent courtier in the court of Akbar.
1) Tenali 2) Kailash 3) Chanakya 4) Birbal

95. A group of Sheep.
1) Pack 2) Clump 3) Gang 4) Flock
96. He designs plans of buildings, bridges etc.
1) Director 2) Architect 3) Lawyer 4) Ophthalmologist
97. The worldwide communication network spread through computer is known as ___
1) Internet 2) Infranet 3) Intranet 4) Network

98. What is glass made up of

1) Sand 2) Wax 3) Soil 4) Wood
99. is the largest river island in India.
1)Cherrapunji 2)Majuli island
3)Barwani 4) Godavari.
100. is the hottest place in India.
1) Bharwani 2)Siachan glaciar 3)Kanchenjunga 4) Dhule
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